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Question Number : 1 Question Id : 60348911157 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

sereeenee-OFga@NIzation has established in 1st January 1995

1. WTO
2. WHO
3. WLO
4. ICMR

Options:

60348942433. 1
60348942434. 2
60348942435. 3

60348942436. 4

Question Number : 2 Question Id : 60348911158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fight North Eastern states are covered under..........cccccceeneeee in India

1. National Horticultural Mission

2. National Agriculture Mission

3. National House Mission
4. National Irrigation Mission

Options :



60348942437. 1
60348942438. 2
60348942439. 3

60348942440. 4

Question Number : 3 Question Id : 60348911159 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the following statements regarding the Net Sown Area (NSA) of any region:

A. The total land area on which crops are grown in a region is called net sown area.

B. The net sown area and the area sown more than once together are called gross cultivated area.
C. In India, about 47 per cent of total reporting area is under the net sown area.

Choose the correct answer from the cptions given below:

1. Only A

2. A and B only
3.Band Conly
4. All of these

Options :

60348942441. 1
60348942442. 2
60348942443, 3

60348942444. 4

Question Number : 4 Question Id : 60348911160 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The rice producing areas are associated with

1. Low density of population

2. Moderate density of population
3. High density of population

4. Very less density of population



Options :

60348942445 1
60348942446. 2
60348942447. 3
60348942448. 4

Question Number : 5 Question Id : 60348911161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

weeeeen 15 NIOE a0 environmental determinant of health

1. Air

2. Soil

3. Water

4. Food
Options :
60348942449. 1
60348942450. 2
60348942451. 3

60348942452. 4

Question Number : 6 Question Id : 60348911162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“Tenure” word refers to

1. Cultivator

2. To hold

3. To buy

4. Owner
Options :
60348942453. 1
60348942454, 2

60348942455. 3



60348942456. 4

Question Number : 7 Question Id : 60348911163 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A person called ‘Nils Gustaf Ekholm’ introduced the term .......

1. Climate regions
2. Greenhouse

3. Climate change
4. Crop rotation
Options :
60348942457. 1
60348942458. 2
60348942459. 3

60348942460. 4

Question Number : 8 Question Id : 60348911164 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Fishing is an example of

1. Tertiary activity

2. Secondary activity
3. Primary activity

4. Quaternary activity
Options:
60348942461. 1
60348942462. 2
60348942463. 3

60348942464. 4

Question Number : 9 Question Id : 60348911165 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Jhuming is a ................type of cultivation in north east India

1. Shifting

2. Intensive
3. Marketing
4. Sustainable

Options :

60348942465. 1
60348942466. 2
60348942467. 3

60348942468. 4

Question Number : 10 Question Id : 60348911166 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Fruits, vegetables and flowers are grown for market/commercial purpose is known as ............

1. Sericulture

2. Viticulture

3. Horticulture

4. Milpa
Options :
60348942469. 1
60348942470. 2
60348942471.3

60348942472. 4

Question Number : 11 Question Id : 60348911167 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Environment pollution is not the result of ...........

1. Air

2. Soil

3. Land division
4, Water
Options :
60348942473. 1
60348942474, 2
60348942475. 3

60348942476. 4

Question Number : 12 Question Id : 60348911168 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Swaminathan is the leader for.................... in India

1. Green Revolution
2. White Revolution
3. Gold Revolution
4. Blue Revolution

Options :

60348942477. 1
60348942478. 2
60348942479. 3

60348942480. 4

Question Number : 13 Question Id : 60348911169 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Along with agricultural systems, Agricultural regionalization is one of the oldest concepts in...............

1. Industrial classification
2. Commercial classification
3. Sectoral classification
4. Agricultural classification

Options :

60348942481. 1
60348942482. 2
60348942483. 3
60348942484. 4

Question Number : 14 Question Id : 60348911170 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sunrays is a............

1. Physical factor

2. Chemical factor

3. Biological factor

4. Both, chemical and biological factor

Options :

60348942485. 1
60348942486. 2
60348942487. 3

60348942488. 4

Question Number : 15 Question Id : 60348911171 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is not an agro-climatic region of India

1. East coast plains and hills
2. The eastern plateau

3. The Western Ghats

4. The trans Ganga plains

Options :

603489424809. 1
60348942490. 2
60348942491. 3
60348942492. 4

Question Number : 16 Question Id : 60348911172 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which organization advocated a 'multiple-barrier' approach to use of wastewater for irrigation, where farmers are
encouraged to adopt various risk-reducing behaviours which include ceasing irrigation a few days before harvesting to allow
pathogens to die off in the sunlight, applying water carefully so it does not contaminate leaves likely to be eaten raw efc.

1. International Water Management Institute
2. World Health Organization

3. International Labor Organization

4. Food and Agricultural Organization

Options :

60348942493. 1
60348942494. 2
60348942495. 3

60348942496. 4

Question Number : 17 Question Id : 60348911173 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one of the following is associated with Indian Agriculture?

1. ICAR
2. ICCR
3. ICMR
4. I[CWA

Options :

60348942497. 1
60348942498. 2
60348942499. 3
60348942500. 4

Question Number : 18 Question Id : 60348911174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Cotton Crop is suitable for ............

1. Black Soil

2. Red Soil

3. Clay Soil

4. Sandy Mixed Soil
Options :
60348942501. 1
60348942502. 2
60348942503. 3

60348942504. 4

Question Number : 19 Question Id : 60348911175 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



IR 20 and Ratna are two important high yielding varieties of...............

1. Wheat

2. Bajra

3. Paddy

4. Jowar
Options :
60348942505. 1
60348942506. 2
60348942507. 3

60348942508. 4

Question Number : 20 Question Id : 60348911176 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Green Revolution has been successful in the states of ..

1. Andhra Pradesh and Qdisha

2. Punjab and Haryana

3. Haryana and Rajasthan

4. Rajasthan and Madhya Pradesh

Options :

60348942509. 1
60348942510. 2
60348942511. 3

60348942512. 4

Question Number : 21 Question Id : 60348911177 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Clayey loam soils are best suited for the cultivation of rice because

1. Clay is very fertile

2. Clay can hold rice roots firmly

3. Clay gives higher yield of rice

4. Water stands best over clayey soil

Options :

60348942513. 1
60348942514. 2
60348942515. 3

60348942516. 4

Question Number : 22 Question Id : 60348911178 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match List | with List Il and select the correct answer by using the codes given below Warming's (1390) classification of
plants

List | List Il

(Plants) (Characteristics)

A. Oxalophytes  |I. plants growing on rocks

B. Halophytes Il plants growing on sandy soils

C. Lithophytes Il plants growing in acidic soils

D. Psammophytes  [IV. plants growing on saline soils

Choose the correct answer from the options given below:

TLA-NVB-ILC-1,D-
2A-IVB-NLC-1,D-I
3LA-NLB-V,C-1LD-I
LA-NB-IV,C-1D-Il
Options :

60348942517. 1
60348942518. 2
60348942519. 3

60348942520. 4



Question Number : 23 Question Id : 60348911179 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rabi crops are sown from

1. January to March

2. October to November
3. March to May

4. June to July

Options :

60348942521. 1
60348942522. 2
60348942523. 3

60348942524. 4

Question Number : 24 Question Id : 60348911180 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following methods of rice cultivation gives the highest yield?

1. Transplantation
2. Broadcasting
3. Dripping

4. Drilling
Options :
60348942525. 1
60348942526. 2
60348942527. 3

60348942528. 4

Question Number : 25 Question Id : 60348911181 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The agricultural yield of India is among the lowest in the world due to the

1. Farmers being poor, uneducated and ignorant of modern farming techniques
2. Limited area of fertile soil

3. Occurrence of frost at night

4. High temperature during summer

Options :

60348942529. 1
60348942530. 2
60348942531. 3
60348942532. 4

Question Number : 26 Question Id : 60348911182 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The goal of is to avoid or reduce yield losses by pests while minimizing the negative impacts of pest control

1. Conservation agriculture

2. Integrated Pest Management
3. Modern transportation

4. Cooling Facilities

Options :

60348942533. 1
60348942534. 2
60348942535. 3

60348942536. 4

Question Number : 27 Question Id : 60348911183 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



“Land tenure system” is also known as

1. Productive system

2. Economic system

3. Land holders system

4. Cultivation Tenure system

Options :

60348942537. 1
60348942538. 2
60348942539. 3

60348942540. 4

Question Number : 28 Question Id : 60348911184 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

On which of the following crop rotation has been successfully applied?

1. Groundnut
2. Wheat

3. Rice

4, Jute

Options :

60348942541. 1
60348942542. 2
60348942543. 3

60348942544. 4

Question Number : 29 Question Id : 60348911185 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Predominantly, India Practices...............

1. Mixed Farming

2. Plantation agriculture
3. Shifting Cultivation

4. Subsistence agriculture
Options :

60348942545. 1
60348942546. 2
60348942547. 3

60348942548. 4

Question Number : 30 Question Id : 60348911186 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Fixation of maximum size of holdings and to take away surplus land, if any, for distribution among others is called...............

1. Land Holdings

2. Production on land holdings
3. Ceiling on land holdings

4. Supplements on land holdings

Options :

60348942549. 1
60348942550. 2
60348942551. 3

60348942552. 4

Question Number : 31 Question Id : 60348911187 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Scientific methods of cultivation become possible on

1. Agricultural land.

2. Unconsolidated land.
3. Sustainable land.

4. Consclidated Land.

Options :

60348942553. 1
60348942554. 2
60348942555. 3

60348942556. 4

Question Number : 32 Question Id : 60348911188 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In India at the time of Independence, how many main land tenure systems existed.

1. Three
2. Two
3. Four
4. Five

Options :

60348942557. 1
60348942558. 2
60348942559. 3

60348942560. 4

Question Number : 33 Question Id : 60348911189 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



University of Horticultural Sciences is situated in

1. Bhopal

2. Bagalkote

3. Bangalore

4. Bhubaneshwar

Options :

60348942561. 1
60348942562. 2
60348942563. 3

60348942564. 4

Question Number : 34 Question Id : 60348911190 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Size and distribution of land holdings is one of the aspects of..............

1. Commodity system
2. Sector development
3. Agriculture Efficiency
4. Agriculture market

Options :

60348942565. 1
60348942566. 2
60348942567. 3

60348942568. 4

Question Number : 35 Question Id : 60348911191 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Landlessness has increased inthe ..

1. Pre-Independent Era
2. Post-Independent Era
3. Independent Era

4. Pre-Reform period
Options :
60348942569. 1
60348942570. 2
60348942571. 3

60348942572. 4

Question Number : 36 Question Id : 60348911192 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

is a colonial legecy.

1. Regional Approach

2. System Approach

3. Commodity Approach
4. Recent Approaches

Options :

60348942573. 1
60348942574. 2
60348942575. 3

60348942576. 4

Question Number : 37 Question Id : 60348911193 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



About 59 percent (or 70 millions) of all children in
hazardous work aged .................are in agriculture.

1. 10-17

2. 12-18

3.5-17

4. 6-16
Options :
60348942577. 1
60348942578. 2
60348942579. 3

60348942580. 4

Question Number : 38 Question Id : 60348911194 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Among the gases, one of the gas released by the burning of fuels is

1. Oxygen

2. Nitrogen

3. Carbon Di-oxide
4. Argon

Options :

60348942581. 1
60348942582. 2
60348942583. 3

60348942584. 4

Question Number : 39 Question Id : 60348911195 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



According to the Rural Labour Enquiry, in 1999-2000 men agricultural workers received work for 222 days while women
workers got work for days.

1.200
2.180
3.192
4.150

Options :

60348942585. 1
60348942586. 2
60348942587. 3
60348942588. 4

Question Number : 40 Question Id : 60348911196 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Women constitute half of the agricultural labor force in ............countries.

1. High-lncome

2. Low-Income

3. Medium-Income
4. Very High -Income
Options :
60348942589. 1
60348942590. 2
60348942591. 3

60348942592. 4

Question Number : 41 Question Id : 60348911197 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Largest exporter of rice in the world is

1. India

2. Indonesia
3. China

4. Bangladesh

Options :

60348942593. 1
60348942594. 2
60348942595. 3

60348942596. 4

Question Number : 42 Question Id : 60348911198 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Von Thunen explained the variation of economic rent in terms of..........

1. Location Advantage
2. Market Advantage
3. Labour Advantage
4. Crop Advantage

Options :

60348942597. 1
60348942598. 2
60348942599. 3

60348942600. 4

Question Number : 43 Question Id : 60348911199 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Cropping System can be defined as

1. The process of growing crops for domestic and commercial purposes.

2. The practice of growing different crops in succession on the same land chiefly to preserve the productive capacity of the
soil.

3. Sequence of crops grown on a given area of land over a period of time.

4. Crops are generally not grown in absolute isolation or it will grow better if associated crops are grown with them.

Options :

60348942601. 1
60348942602. 2
60348942603. 3
60348942604. 4

Question Number : 44 Question Id : 60348911200 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the statement (s) related to the green revolution.

. Green Revolution ensured that there was no regional disparity

Il. There was an increase in production of all the food grains and commercial crops.

Which of the following is/are correct statement (s)?

1. Only |

2. Only lI

3. Both land Il
4. Neither | nor I

Options :

60348942605. 1
60348942606. 2
60348942607. 3

60348942608. 4

Question Number : 45 Question Id : 60348911201 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The crop combination is helpful in

1. Introduction of innovation in agricultural field.

2. Design to maximise yield

3. Evaluating whether a given crop will be planted

4. Managing the soil and fertility, reduce erosion, improve soil's health, and increase nutrients available for crops

Options :

603489426009. 1
60348942610. 2
60348942611. 3

60348942612. 4

Question Number : 46 Question Id : 60348911202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Biological efficiency means ...

1. Practice of planting different crops sequentially on the same plot of land to improve soil health, optimize nutrients in the
soil, and combat pest and weed pressure

2. Calculating the amount of renewable electricity a facility is expected to produce in a year

3. Crop measured in terms of yield per unit area over a specified period of time

4. The decrease of primary energy consumption for the production of a unit of agricultural product

Options :

60348942613. 1
60348942614. 2
60348942615. 3

60348942616. 4

Question Number : 47 Question Id : 60348911203 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



provides data on a wide range of topics such as crop area and production, land use, irrigation, land holdings,
agricultural prices and market intelligence, livestock, fisheries, forestry.

1. Agriculture Statistics System
2.Crop Statistics System

3. Filed Statistics System

4. Resource Statistics System

Options :

60348942617. 1
60348942618. 2
60348942619. 3
60348942620. 4

Question Number : 48 Question Id : 60348911204 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the International Water Management Institute and UNEP, well-managed agroecosystems not only provide food,
fiber and animal products, they also provide services such as

A. flood mitigation

B. groundwater recharge

C. erosion control

D. habitats for plants, birds, fish and other animals
Choose the correct answer from the options given below:

1.A Band Conly
2. Aand Conly
3.Band Conly
4.ABCandD

Options :

60348942621. 1
60348942622. 2
60348942623. 3

60348942624. 4



Question Number : 49 Question Id : 60348911205 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The standard boxes for packing apple can contain...............

1. 10 to 18 kg.

2. 810 12 kg.
3.9 to 18 kg.

4. 15 to 18 kg.
Options :
60348942625. 1
60348942626. 2
60348942627. 3

60348942628. 4

Question Number : 50 Question Id : 60348911206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

eeveee@N o818 CONSidered the fruit baskets of the region because of favorable climate and topography.

1. Jammu & Kashmir

2. Himachal Pradesh and Jammu & Kashmir
3. Punjab and Uttar Pradesh

4. Karnataka and Punjab

Options :

60348942629. 1
60348942630. 2
60348942631. 3
60348942632. 4

Question Number : 51 Question Id : 60348911207 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Agri - Silviculture is also known as...........

1. Agricultural system
2. Taungya system

3. Productive system
4. Gardening system
Options :
60348942633. 1
60348942634. 2
60348942635. 3

60348942636. 4

Question Number : 52 Question Id : 60348911208 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Guava, Mango, Grape, Bael are the example of .....

1. Low tolerance crop

2. High tolerance crop

3. Medium tolerance crop
4, Susceptible

Options :

60348942637. 1
60348942638. 2
60348942639. 3

60348942640. 4

Question Number : 53 Question Id : 60348911209 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Uttar Pradesh has the highest area under ........cultivation

1. Rice

2. Wheat
3. Jowar
4, Maize

Options :

60348942641. 1
60348942642. 2
60348942643. 3

60348942644. 4

Question Number : 54 Question Id : 60348911210 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the stipulated amount of food grains that a BPL family can buy from a Fair Price Shop?

1.5kg
2.15 kg
3.35 kg
4.45 kg

Options :

60348942645. 1
60348942646. 2
60348942647. 3

60348942648. 4

Question Number : 55 Question Id : 60348911211 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The management and development of forests with afforestation on barren lands to achieve environmental benefit and rural
development,

1. Social Forestry
2. Agro Forestry
3. Local Forestry
4. Tribal Forestry

Options :

60348942649. 1
60348942650. 2
60348942651. 3
60348942652. 4

Question Number : 56 Question Id : 60348911212 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ISIC stands for

1. International Standard Industrial Classification.
2. Indian Standard Industrial Classification.
3. International Standard Individual Classification.
4. International Standard Industrial Classes.

Options :

60348942653. 1
60348942654. 2
60348942655. 3

60348942656. 4

Question Number : 57 Question Id : 60348911213 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The global information system on water and Agriculture will be done in collaboration with

1. FAO - AQUASTAT Programme
2. FAO - Food Programme

3. FAO — Nutrition Programme
4. FAO - Agri Programme
Options :

60348942657. 1
60348942658. 2
60348942659. 3

60348942660. 4

Question Number : 58 Question Id : 60348911214 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The process of selecting a sample is known as.......

1. Sampling

2. Selection

3. Choice Based

4. Random Sampling

Options :

60348942661. 1
60348942662. 2
60348942663. 3

60348942664. 4

Question Number : 59 Question Id : 60348911215 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Sampling can be broadly classified into

1. Probability sampling and Non-Probability sampling.
2. Random sampling and Stratified sampling

3. Random and Purposive sampling

4. Individual and Multipurpose sampling

Options :

60348942665. 1
60348942666. 2
60348942667. 3

60348942668. 4

Question Number : 60 Question Id : 60348911216 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sampling units are selected at various stages known as .................

1. Multistage Random Sampling
2. Random Sampling

3. Purposive sampling

4. Stratified sampling

Options :

60348942669. 1
60348942670. 2
60348942671. 3

60348942672. 4

Question Number : 61 Question Id : 60348911217 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



SASAs stands for

1. State Agricultural Statistics Authorities
2. State Agricultural Storage Authorities
3. State Agronomical Statistics Authorities
4. State Agri-food Statistics Authorities

Options :

60348942673. 1
60348942674. 2
60348942675. 3

60348942676. 4

Question Number : 62 Question Id : 60348911218 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

O E Baker divides the agricultural.................belts of the USA.

1. Wheat and Maize
2. Maize and Cotton
3. Wheat and Cotton
4. Paddy and Maize

Options :

60348942677. 1
60348942678. 2
60348942679. 3

60348942680. 4

Question Number : 63 Question Id : 60348911219 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



cnnnens T Most commonly used fertilizer and its selling price is fixed by the Government of India.

1. Urea

2. Potash

3. Phosphorus

4. Calcium, magnesium and sulphur

Options :

60348942681. 1
60348942682. 2
60348942683. 3
60348942684. 4

Question Number : 64 Question Id : 60348911220 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is not a probability sampling method?

1. Simple random sampling
2. Purposive sampling

3. Stratified sampling

4. Cluster sampling

Options :

60348942685. 1
60348942686. 2
60348942687. 3

60348942688. 4

Question Number : 65 Question Id : 60348911221 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Primary activities are mostly engaged in.............

1. Developing countries

2. Developed countries

3. Less Developed countries
4. More Developed countries

Options :

60348942689. 1
60348942690. 2
60348942691. 3
60348942692. 4

Question Number : 66 Question Id : 60348911222 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Three types of production including cereal crops, pasturing of animals and cash crops known as..............

1. Agriculture with animal husbandry
2. Multi Purpose Farming

3. Mixed Farming

4. Multi Farming

Options :

60348942693. 1
60348942694. 2
60348942695. 3

60348942696. 4

Question Number : 67 Question Id : 60348911223 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Horticulture is the example of ........

1. Market gardening

2. Monoculture farming
3. Subsistence farming
4. Two crop cultivation
Options :
60348942697. 1
60348942698. 2
60348942699. 3

60348942700. 4

Question Number : 68 Question Id : 60348911224 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who developed a theory of agricultural land use and land rent based on differences in the fertility of land.

1. David Ricardo
2. Richard

3. Weber

4, William Alonso

Options :

60348942701. 1
60348942702. 2
60348942703. 3

60348942704. 4

Question Number : 69 Question Id : 60348911225 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following statements is not true about the Green Revolution in India?

1. It was characterized by the use of High Yielding Variety of seeds and the intensive irrigation and application of chemical
fertilizers

2. It started with increased wheat production in Punjab, Haryana and Western U.P

3. It has resulted in the increase in disparity in rural income

4. It has caused substantial increase in the production of millets

Options :

60348942705. 1
60348942706. 2
60348942707. 3
60348942708. 4

Question Number : 70 Question Id : 60348911226 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Von Thiinen's second model is concerned with

1. Land use patterns.
2. Land Availability

3. Marketing system

4. Labour and market

Options :

603489427009. 1
60348942710. 2
60348942711. 3

60348942712. 4

Question Number : 71 Question Id : 60348911227 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Von Thiinen considered .............generalized types of economic and agricultural activities.

1. Four
2. Five
3. Six

4. Eight

Options :

60348942713. 1
60348942714. 2
60348942715. 3

60348942716. 4

Question Number : 72 Question Id : 60348911228 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Factor/ Factors leading to decisions to diversify include;

1. reducing risk

2. responding to changing consumer demands or changing government policy
3. responding to external shocks and climate change

4. All of these

Options :

60348942717. 1
60348942718. 2
60348942719. 3
60348942720. 4

Question Number : 73 Question Id : 60348911229 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Greater clarity on what constitutes a robust nutrient profiling system and movement towards a consensus.............

1. White Standard

2. Gold Standard

3. Green Standard

4. Gold Sustainability

Options :

60348942721. 1
60348942722. 2
60348942723.3

60348942724. 4

Question Number : 74 Question Id : 60348911230 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

National Food Security Mission (NFSM) was launched in which year?

1. 2005
2. 2007
3. 2009
4. 2011

Options :

60348942725. 1
60348942726. 2
60348942727. 3

60348942728. 4

Question Number : 75 Question Id : 60348911231 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The use of agricultural export subsidies was explicitly permitted, conditional upon the observance of

1. Non- Equitable Market Shares
2. Sustainable Market Shares

3. Unsustainble Market Shares
4, Equitable Market Shares

Options :

60348942729. 1
60348942730. 2
60348942731.3
60348942732. 4

Question Number : 76 Question Id : 60348911232 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Hunger and Malnutrition measured by.............. equally-weighted indicators

1. Three

2. Five

3. Seven

4. Two

Options :
60348942733. 1
60348942734. 2
60348942735. 3

60348942736. 4

Question Number : 77 Question Id : 60348911233 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The study of entire gamut activities that direct the flow of goods and services from the primary producer to ultimate

consumer

1. Agricultural marketing

2. Goods marketing

3. Commercial marketing

4. Domestic goods marketing

Options :

60348942737. 1
60348942738. 2
60348942739. 3
60348942740. 4

Question Number : 78 Question Id : 60348911234 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Among the following crops which is not a Rabi crop

1. Barely
2. Oats

3. Maize
4, Gram

Options :

60348942741. 1
60348942742. 2
60348942743. 3

60348942744. 4

Question Number : 79 Question Id : 60348911235 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Commodity index ratio refers to 'in between cost of raw material and cost of production’ this statement is given by

1. Weber
2.Von-Thunen
3. Weaver

4, Bhatia

Options :

60348942745. 1
60348942746. 2
60348942747.3
60348942748. 4

Question Number : 80 Question Id : 60348911236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following countries present fertile crescent?

1. USA

2. Jordan

3. Syria

4. Egypt
Options :
60348942749. 1
60348942750. 2
60348942751. 3

60348942752. 4

Question Number : 81 Question Id : 60348911237 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The branch of agriculture which deals with the feeding, shelter, health and breeding of the domestic animals is called

1. Dairy Science

2. Vleterinary Science
3. Poultry

4. Animal Husbandry

Options :

60348942753. 1
60348942754. 2
60348942755. 3
60348942756. 4

Question Number : 82 Question Id : 60348911238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Cultivation of wheat requires

1. Moderate temperature and heavy rains

2. Humid temperature and heavy rains

3. Moderate temperature and moderate rains
4. Humid temperature and moderate rains

Options :

60348942757. 1
60348942758. 2
60348942759. 3

60348942760. 4

Question Number : 83 Question Id : 60348911239 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Food security system and price policy basically consists of which of the following instruments?

1. Procurement prices/minimum support prices
2. Buffer stocks

3. Public distribution system (PDS)

4. All of these

Options :

60348942761. 1
60348942762. 2
60348942763. 3
60348942764. 4

Question Number : 84 Question Id : 60348911240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Laterite soil are found in area where

1. Normal temperature and rain fall is less
2. Temperature is high and rain is heavy

3. Temperature is low and rain fall is normal
4. Temperature is high rain fall is normal

Options :

60348942765. 1
60348942766. 2
60348942767. 3

60348942768. 4

Question Number : 85 Question Id : 60348911241 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Kharif crops are sown

1. At the beginning of the Southwest monsoon
2. At the end of the South-West monsoon

3. At the beginning of the North-East monsoon
4. At the end of North-East monscon

Options :

60348942769. 1
60348942770. 2
60348942771.3

60348942772. 4

Question Number : 86 Question Id : 60348911242 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The crops grown after the summer monsoon are called

1. Kharif

2. Rabi

3. Annual
4. Seasonal

Options :

60348942773. 1
60348942774. 2
60348942775. 3

60348942776. 4

Question Number : 87 Question Id : 60348911243 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The soil conservation method in which mountain slope is cut into step is

1. Contour ploughing
2. Cover planting

3. Strip cropping

4. Terracing

Options :
60348942777. 1
60348942778. 2
60348942779. 3

60348942780. 4

Question Number : 88 Question Id : 60348911244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is incorrect

1. Wheat is grown in Punjab

2. Tea is grown in Assam

3. Coffee is grown in Karnataka

4. Safforn is produced in Himachal Pradesh

Options :

60348942781. 1
60348942782. 2
60348942783. 3

60348942784. 4

Question Number : 89 Question Id : 60348911245 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The process of voluntary consolidation in India was first initiated in 1921 in

1. Punjab

2. Maharashtra
3. Haryana

4. Bihar

Options :

60348942785. 1
60348942786. 2
60348942787.3

60348942788. 4

Question Number : 90 Question Id : 60348911246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

«..dnd ............produce a wide range of products

1. Forest and Land

2. Plants and Animals

3. Animals and Humans
4, Machines and Human

Options :

60348942789. 1
60348942790. 2
60348942791. 3

60348942792. 4

Question Number : 91 Question Id : 60348911247 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The study starts with a geographic investigation of the
regional differences in agricultural features is known as..............

1. Regional Approach

2. Commodity Approach
3. Systematic Approach
4. Startified Approach

Options :

60348942793. 1
60348942794. 2
60348942795. 3

60348942796. 4

Question Number : 92 Question Id : 60348911248 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Agricultural geography dealt largely with the
production and exchange of....................

1. Industrial Commadities

2. Agricultural Commodities
3. Commercial Commodities
4. Economical Commodities

Options :

60348942797. 1
60348942798. 2
60348942799. 3

60348942800. 4

Question Number : 93 Question Id : 60348911249 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Agriculture was developed ..................years ago

1. 10,000
2. 12,000
3. 20,000
4. 50,000

Options :

60348942801. 1
60348942802. 2
60348942803. 3

60348942804. 4

Question Number : 94 Question Id : 60348911250 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

language mixing, Population mixing processes comes under

1. Genetics (human and plant populations)
2. The archaeological record

3. Comparative linguistics

4. Nature, Mechanisms and Speed
Options :

60348942805. 1

60348942806. 2

60348942807. 3

60348942808. 4

Question Number : 95 Question Id : 60348911251 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



National Horticulture Mission (NHM) was introduced in which five year plan?

1. Ninth Five Year Plan

2. Tenth Five Year Plan

3. Eleventh Five Year Plan
4. Twelfth Five Year Plan

Options :

603489428009. 1
60348942810. 2
60348942811.3

60348942812. 4

Question Number : 96 Question Id : 60348911252 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The primary consequence of altitude is the decrease in air pressure with.................

1. Decrease in Elevation
2. Either sides Mountain
3. Increase in Elevation
4. Along with Valleys
Options :
60348942813. 1
60348942814. 2
60348942815. 3

60348942816. 4

Question Number : 97 Question Id : 60348911253 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



How many types of Soil having Phase System

1.3

22

3.4

4.6

Options :
60348942817. 1
60348942818. 2
60348942819. 3

60348942820. 4

Question Number : 98 Question Id : 60348911254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Crop growth is determined to a considerable extent by the amount of........ccccceeee.e.

1. Alkalinity in the soil
2. Salinity in the soil
3. Nutrients in the Soil
4. Sodium in the soil

Options :

60348942821. 1
60348942822. 2
60348942823. 3

60348942824. 4

Question Number : 99 Question Id : 60348911255 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Food as a form of aid to developing countries has its origin in the

1. Late 1960s
2. Mid 1950s
3. Post 1950s
4. Early 1950s

Options :

60348942825. 1
60348942826. 2
60348942827.3
60348942828. 4

Question Number : 100 Question Id : 60348911256 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rodents is one of the major constraints to .........

1. Decrease Food Production

2. Increase Food Production

3. No Changes in Food Production
4. None of the Options

Options :

60348942829. 1
60348942830. 2
60348942831. 3

60348942832. 4



